TS F I A TEEROBE (Frimth)

R5.3 #Fiamh

1 #iR

(1) 8%

mARDHEIE. EREFHTLEERALRL, FHEERIFIFO. 4% M50, 7%EHEST=, T
ADFEMAIZ150 AT, HEALRLI-hmNFIE72 @A S84 m MLz, BIEID
EEIDLEIN - mIE3 1A TH T,
2)F=EHDIKR

EHEENFRITFIEO. 3% M 50. 6% &AL, MEALFELIh R IE52H S A SL60H & (ZHE N
Elio - BIENSEH DM 22 m THoT-,
() EEHDIKR

FEHEBETEIEO. 3% M50, 7%EIMLAL. EHED LF LIS RIE 1St a NS 1 7H# R

ML=, BIENEEDEN R (TR THoT=,

(4) TERHMDIKR
FEHEBRILHTFET. 8%M02. 1%EILAL, HEL-7THAETTHEEN LR L,

2 RZAEHEE R (Bf: %)

FEH EE TEH | £RR
Hmh 0.6 0.7 2.1 0.7
(0.3) (0.3) (1.8) (0.4)
X 0.9 A0.1 0.9 0.7
(0.6) (AO0.1) (0.9) (0.5)
R 0.9 0.8 2.0 1.1
(0.7) (0.8) (1.7) (0.9)
hRX 1.8 1.7 _ 1.7
(1.0) (0.9) (0.9)
N3] 1.3 _ 3.1 1.5
(1.1) (2.6) (1.3)
MERX A0.3 A05 _ A04
(A0.4) (A0.9) (A0.5)
[£3] >3 A0.3 _ _ A0.3
(A0.3) (A0.3)
ic] P 0.3 0.0 _ 0.3
(0.1) (0.0) (0.1)
[icp{ P A15 A25 _ A18
(A1.6) (A2.6) (A1.9)
HEe A0.6 Al 1.3 A0.7
(A0.8) (A1.2) (0.8) (A0.8)
£ 1.4 1.8 3.1 1.6
(0.5) (0.4) (2.0) (0.6)

X () RILRTELE,



3. EEFEREfuMI

(1) fE5EH (AT : 1/ nd, %)
WG | SEEES | X S OE K M R 4 4Efits | R 5 | ok | R
G| wmeo | e ) 83,800 | 87,600 | 3.2 | 4.5
O | s el S b ko sopes) | 92900 | 97,000 | 3.2 | 4.4
() BT

(2) P2t AL < [,/ nd, %)
WG | EEES | X S OE K M R 4 4EAts | R 5 | ok | ek
@ | s [l (R oo iAo | 114000 | 118,000 | 3.6 | 5.5
Gy | e || REREITRASOEIN AEL 88721 7,000 [ 121,000 | 2.6 | 3.4
G | wms—s [wape]  RELBIHE 00 214,000 |221,000 | 2.9 | 3.3
O BT

4. {EEEIEL i R

(1) fEEH (AT : 1/, %)
W | kEeEs | X MO TR O R 4 4fits [ R 5w | Gk | Tk
1| e [k e o ) 169,000 | 169,000 | A0.6 | 0.0
o | kg |dm G e o vt 164,000 | 168,000 | 0.0 | 2.4
3| k4 [ L s 132,000 | 134,000 | 0.8 | 1.5
| e P o B o e R ) | 126000 | 129,000 [ 0.8 ] 2.4
5| o1 [ S R 123,000 | 125,000 | 0.8 | 1.6
R EARE D 5T

(2) P2ty CHAZ 2 F/nd, %)
W | kEeEs | X MO T R O R 4 4fits [ R 5w | DR | TR
Gy | s | L L2 a0 | 510,000 | 557,000 | 0.0 | 3.1
@ | s sl b ey | 300,000 | 315,000 | 4.2 | 5.0
o | 15 | L 8 L5 8 288,000 | 296,000 | 1.8 | 2.8
G | s e e ) 248,000 | 246,000 | AL.6| A0.8
© | 10 [ R L 222,000 [ 224,000 | A0.4 | 0.9
% () AR




